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SRR ==Y H 2 5 1B Z B fm &

BERFEE 718 |77 27.3 429 409
<t/ 232.9 892 89
JU 791.3 94 31
E=X 65.8 2,089 569
e 23.3 740 569
HFHS 166.0 60 20
>0OX/)VUlL 45.3 1,498 500
AP 118.1 1,800 1,377
AXF 530.2 630 311
dE>HAN 59.7 180 111
SFIA 1,258.0 2,850 1,000
TRIRD 53.7 1,500 289
JdF 74.0 1,200 280
< hOSA 29.5 296 30
Y= 81.0 2,650 800
L 208 = Av i o) 162.0 550 59
Ui 58 JU 417.3 30
50> 27.4 1,000
BTl 6% Ry FHA 2,023.0 644 300
2]n 228 JU 31.5 130
NC 24& EXTYRS 410.0 173 100
TERAVHA 39.5 300 200
SEtHE 6,666.8




[(&£) (BT ¢ kg )
JRETELE =V n = = 18 Z 1B B &
EEXRIFE 718 |5 X 1,487.3 2,500 600
A2HLA 43.4 1,050 600
<AL A 35.5 2,000 300
I5 A 26.4 1,100 250
XAXF 250.1 650 300
NSO 33.9 8,000 3,000
ERE 208 NSO 308.7 12,000 4,000
mUiE S5& XX+ 94.5 600 500
#]D 22 E=5X 106.2 3,000 1,300
T 24 <A 901.1 1,700 1,200
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3,287.1




